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£ b7 R - ARSTiE Bify % 2 B & # wm =
BRI 10, 525,576
BEERERIERER 10, 525,576
BEERERIERER 10, 525, 576
BEEAGE 9, 638, 640
I%E - AEERER 9,528, 240
1 BEEREHEREED EERME 12.00 38, 640 463, 680
A
2 BEEREHEREFOQ BLEHE 12.00 755, 380 9, 064, 560
A
i - |E 110, 400
3 i - |mE (EFH. hHEEE. EETTH) 1.00 110, 400 110, 400
=
EERE 886, 936
EHXARE 90, 645
4 EXRRE 1.00 90, 645 90, 645
=
BHEBERRE 181, 291
5 EERGERARE 1.00 181, 291 181, 291
=
(XA EBEEH 600, 000
6 XA EERS L VEGES 1.00 600, 000 600, 000
=
EHEBRELE 15, 000
T EBRERE 1.00 15, 000 15,000
=
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% g - AKTiE Bifr B 2 B i & #B w E
B IR 9,638,640 + 886,936 10, 525, 576
BEEAGE 9,638, 640
E#ERE 886, 936
T At R i 9,638,640 x 42.86% ( 30% = (1 — 30%) ) 4131121
KHRE 10,525,576 + 4,131,121 14, 656, 697
—REEES 14,656,697 x 53.85% ( 35% + (1 — 35%) ) — 9,328 7,883,303
KB 14,656, 697 + 7,883,303 22, 540, 000
HBETEMALE 22,540,000 x 10.00% 2,254,000
EBREH 22,540,000 + 2, 254,000 24,794, 000
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FEETE B (A)
A 0.70 55, 200. 00 38, 640
= it 1E%HED - 1.008 38, 640. 00 38, 640
&5 :2
L BEERERMEREHQ HELEME 1A&Y
£ 7 R - KT By = B Of o # B =
EEEME HEm (C)
= 1.00 755, 380. 00 755, 380
= it 1E%HED - 1.008 755, 380. 00 755, 380
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B 1% - G (EFE. DER. BT TE) =1
£ 7 R - KT By = B Of | # B =
& FBF HEm (A)
A 0.50 55, 200. 00 217,600
lo[i5 AR (A)
A 1.00 55, 200. 00 55, 200
EBTTH HEhm (A)
A 0.50 55, 200. 00 217,600
= it S .00 110, 400. 00 110, 400
E2=
2% EHARE =1
£ 7 R - BAKTiE By = B Of | # B =
EHARE
= 1.00 90, 645. 00 90, 645
= it 1YE%HeH - 1.00K 90, 645. 00 90, 645
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BEHRERARE
= 1.00 181, 291.00 181, 291
= it 1E%HeH - 1.00K 181, 291.00 181, 291
&S :6
&% ¥FAENEEHNS L VEGES =1
£ 7 R - BIRTiE BAGL 2 B i ) i s &
bR YAV 1.5L
= 1.00 600, 000. 00 600, 000
= it 1YE%HeH - 1.00K 600, 000. 00 600, 000
&5 .17
2% EBHRRE =1
£ 7 R - BIRTiE BAGL 2 B i ) i s &
XBRRRE
= 1.00 15, 000. 00 15, 000
= it 1E%HeRH 1,00 15, 000. 00 15, 000




